[image: ]Solve division over the 12th multiple and understand remainders
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3. 88 apples are shared equally between 4 boxes. How many are in each box?
4. 96 bananas are shared equally between 6 bags. How may bananas are in each bag?
Remainders now…
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2.	87 ÷ 5 =
3. 	63 ÷ 4 =
[bookmark: _GoBack]4.	128 ÷ 9 =
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0 There are 69 strawberries. If 3 strawberries fit on to one stick, how
many full sticks can be made?
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60 strawberries + [:] = [3 full sticks
9 strawberries + [:] = D full sticks

Dfull sticks can be made using 69 strawberries.
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10 lots of 2 is 20. I am going
to see how many 20s fit
into 68 and then divide
what is left over.
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10x2=20 10 x 2 = 2i
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9 strawberries + D

full sticks can be made using 69 strawberries. 10 x2=20 10x2=20

6 There are 55 limes. i — —

They are shared equally into 5 boxes. b) Use Reena’s method to -
How many limes are there in each box?
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Find the missing numbers to work out 37 + 3.
All four calculations have

Use the part-whole model to help you.

Use 100s, 10s and Is
base 10 equipment

I think the answer to t

to help you. calculation could be 6

a) Is Amelia correct?

Explain your answer.

b) What could the answe
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